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2.4: Solving Polynomial Equations

Some solutions will be real and
others imaginary. Also, we will
identify the multiplicity of the
equation.

The degree of the equation will determine the number
of solutions. Example: degree 5 will be 5 solutions



What is multiplicity?
How many times a particular number is a solution for a given equation. For

example, in the polynomial equation (x — 3)*(x — 5)(x — 8)?= 0:

There are 7 solutions but with
varying multiplicity:

X = 3 (mult of 4)
X =5 (mult of 1)*
x = 8 (mult of 2)

*You do not have to specify when
the multiplicty is 1.



Directions on HW:

a) How many solutions does the equation
have?

b) Solve by factoring. State the multiplicity
of any repeated solutions

c) Describe the solutions: How many are real?
Imaginary?
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Write a polynomial equation in standard form with
integral coefficients with the given roots (solutions).
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